
  

Mild Task 1 – Answers below 

1. 5 X 8 = 40      5 X 4 = 20       5 X 9 = 45        5 X 5 = 25       5 X 1 = 5 

5 X 7 = 35      5 X 3 = 15        5 x 10 = 50       5 X 6 = 30 

 

2. 5 X 5 = 25      5 X 0 = 0         5 X 4 = 20        5 X 9 = 45       5 X 8 = 40 

5 X 9 = 45      5 X 10 = 50     5 X 6 = 30        5 X 7 = 35       5 X 0 = 0 

 

3. 5, 10, 15, 20, 25, 30, 35, 40, 45, 50 

 

4. Missing numbers in bold –  

5, 10, 15, 20, 25, 30 

15, 20, 25, 30, 35, 40 

25, 30, 35, 40, 45, 50 

 

 



 

Mild Task 2 – Answers above. 

 

 



  

Hot Task – Answers below 

1. Practical work 

2. (a) 42 (b) 27 (c) 40 (d) 54 (e) 56 (f) 18 (g) 36 (h) 35 (i) 64 (j) 49  

(k) 72 (l) 24 (m) 48 (n) 28 (o) 30 (p) 16 (q) 30 (r) 81 (s) 25 (t) 45 (u) 32 

(v) 24 (w) 63 (x) 21 

3 (a) 78 (b) 138 (c) 232 (d) 315 (e) 426 (f) 399 (g) 672 (h) 261 (i) 324  

   (j) 266 (k) 270 (l) 440 

 



 

Hot Task 2 – Answers below 

4 (a) 48 X 6        (b) 36 X 7        (c) 87 X 8       (d) 34 X 9 

6.    7 X 36p = 252p (£2.52)    5 X 59p = 295p (£2.95)   

      6 X 84p = 504p (£5.04)     8 X 36p = 288p (£2.88) 

      TOTAL - 252 + 295 + 504 + 288 = 1339p (£13.99) 

7.    7 X 38 = 266 

 


